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Sun Feb 26 04:49:37 2012

[ ADC RMS for RDO=1,ARM=0,APV=17 |
=
g
4}
a
<
0
=
©
s B R
10 = Ll
==
0 = i :
0 20 40 60 80 100 120
APV channel
[ ADC RMS for RDO=1,ARM=0,APV=18 "}
= 50— - - s S ECEEEEEEEEr T e EELEEEEEEEr T e EE L L R e e e e e e T e
3 . . . .
[}
a
<
0
=
@
APV channel
[ ADC RMS for RDO=1,ARM=0,APV=19 |
g 45
2
3 40
<
2 35
3
30 H
25 b=
20 (=5
15 E
10 =
5 |
= i
0% 20
APV channel
[ ADC RMS for RDO=1,ARM=0,APV=20 |}
=
g
4}
a
<
0
=
©
i
120
APV channel
[ ADC RMS for RDO=1,ARM=0,APV=21 "}
3 )
&
g 80 [
<
g 70
@
60
50
40
30 [
20
10
0 i i i i i i

120

APV channel




run_13057012 FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA

Sun Feb 26 04:46:48 2012

[ADC for FGT RDO=1,ARM=1,APV=0 }

Agopecl

10?

[ 1000 2000

[ADC for FGT RDO=1,ARM=1,APV=1 }

3000

4000
raw ADC

<gD(:Aped

0 1000

2000

[ADC for FGT RDO=LARM=1APV=2 }

3000 4000

raw ADC

HEt 38¢8
1000 2000

[ADC for FGT RDO=1,ARM=1,APV=3 }

3000 4000

raw ADC

0 1000 2000

ADC for FGT RDO=1,ARM=1,APV=4 l

3000

4000
raw ADC

C-ped

HAD
<

10?

0 1000

2000

3000 4000

raw ADC

[ADC for FGT RDO=1ARM=L,APV=0_}

= 4000 p—
] =
& =

Q 3500 f— - -
< =

3000 f=— - -
=

2500 f=— - -
=

2000 fm—— - -
=

1500 f=—— - -

1000 p=— - -
=
=

500 p=— - -
=
=

o fE=

= i i i i i i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=1,APV=1 }
= 4000 p—
] = . . . . . .
5 =
8 3500 = -
< =
3000 f=—— -
2500 fm— -
2000 f=— -
=
1500 f=— -
=
1000 f=— -
=
500 f—
= -
==
E_. . . i . . . i . . . i . . . i . . . i . . . i .
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=1,APV=2 }

= 4000 p=
] = . . . . . .
2 = 8 8 8 8 8 2
Q 3500 F=—
% =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
=
= i i i i i i
20 40 60 80 100 120
APV channel
[ADC for FGT RDO=1,ARM=1,APV=3 }
= 4000 p—
] = . .
& =
Q 3500 f=— sebe EEEE
< =
3000 f=— [E EE B R
2500 = R R R R
2000 fm— sajaagpeglasie
=
1500 f=— St R
1000 P=— - v - b e e e FEEEE TR A EEEE
= 8
= 8
500 p=—-----feceonn Sqoofieadpeqlesye
= 2
Of— e LR R B CEE
= 5
= 1
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=1,APV=4 "}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

.4 .4 Eo.d E..d E.a

10

10

107

10

10




run_13057012 FGT_MPV_1,Timebin=2,Disc=2,asmb=2DA
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run_13057012 FGT_RMS_ 1,Timebin=2,Disc=2,asmb=2DA
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[CADC RMS for RDO=1ARM=L1,APV=5__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=1,APV=6 }

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=7 }

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=1,APV=9 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13057012 FGT_ADC_1,Timebin=2,Disc=2,asmb=2AB
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run_13057012 FGT_MPV_1,Timebin=2,Disc=2,asmb=2AB
Sun Feb 26 04:49:02 2012
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run_13057012 FGT_RMS 1, Timebin=2,Disc=2,asmb=2AB
Sun Feb 26 04:49:40 2012
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run_13057012 FGT_ADC_1,Timebin=2,Disc=2,asmb=2AB

Sun Feb 26 04:46:59 2012
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run_13057012 FGT_MPV_1,Timebin=2,Disc=2,asmb=2AB
Sun Feb 26 04:49:03 2012
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run_13057012 FGT_RMS 1, Timebin=2,Disc=2,asmb=2AB
Sun Feb 26 04:49:41 2012
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run_13057012 FGT_ADC 1,Timebin=2,Disc=3,asmb=3DA

Sun Feb 26 04:47:03 2012
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run_13057012 FGT_MPV_1,Timebin=2,Disc=3,asmb=3DA
Sun Feb 26 04:49:04 2012
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run_13057012 FGT_RMS_1,Timebin=2,Disc=3,asmb=3DA
Sun Feb 26 04:49:42 2012
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run_13057012 FGT_ADC 1,Timebin=2,Disc=3,asmb=3DA
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run_13057012 FGT_MPV_1,Timebin=2,Disc=3,asmb=3DA
Sun Feb 26 04:49:05 2012
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run_13057012 FGT_RMS_1,Timebin=2,Disc=3,asmb=3DA
Sun Feb 26 04:49:43 2012
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run_13057012 FGT_ADC_1,Timebin=2,Disc=3,asmb=3AB
Sun Feb 26 04:47:12 2012
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run_13057012 FGT_MPV_1,Timebin=2,Disc=3,asmb=3AB

Sun Feb 26 04:49:07 2012
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run_13057012 FGT_RMS 1, Timebin=2,Disc=3,asmb=3AB
Sun Feb 26 04:49:44 2012
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run_13057012 FGT_ADC_1,Timebin=2,Disc=3,asmb=3AB
Sun Feb 26 04:47:13 2012
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run_13057012 FGT_MPV_1,Timebin=2,Disc=3,asmb=3AB

Sun Feb 26 04:49:07 2012
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run_13057012 FGT_RMS 1, Timebin=2,Disc=3,asmb=3AB
Sun Feb 26 04:49:45 2012
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run_13057012 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA
Sun Feb 26 04:47:18 2012
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run_13057012 FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA

Sun Feb 26 04:49:08 2012
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run_13057012 FGT_RMS_ 1,Timebin=2,Disc=4,asmb=4DA
Sun Feb 26 04:49:46 2012
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run_13057012 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA
Sun Feb 26 04:47:20 2012
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run_13057012 FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA
Sun Feb 26 04:49:08 2012
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run_13057012 FGT_RMS_ 1,Timebin=2,Disc=4,asmb=4DA
Sun Feb 26 04:49:46 2012
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run_13057012 FGT_ADC_1,Timebin=2,Disc=4,asmb=4AB
Sun Feb 26 04:47:24 2012
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run_13057012 FGT_MPV_1,Timebin=2,Disc=4,asmb=4AB
Sun Feb 26 04:49:09 2012
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run_13057012 FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
Sun Feb 26 04:49:47 2012
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run_13057012 FGT_ADC_1,Timebin=2,Disc=4,asmb=4AB
Sun Feb 26 04:47:28 2012
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run_13057012 FGT_MPV_1,Timebin=2,Disc=4,asmb=4AB

Sun Feb 26 04:49:10 2012
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run_13057012 FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
Sun Feb 26 04:49:48 2012
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run_13057012 FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA

Sun Feb 26 04:47:30 2012
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run_13057012 FGT_MPV_1,Timebin=2,Disc=5,asmb=5DA
Sun Feb 26 04:49:11 2012
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run_13057012 FGT_RMS_ 1,Timebin=2,Disc=5,asmb=5DA
Sun Feb 26 04:49:48 2012
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run_13057012 FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA
Sun Feb 26 04:47:35 2012
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run_13057012 FGT_RMS_ 1,Timebin=2,Disc=5,asmb=5DA
Sun Feb 26 04:49:49 2012
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run_13057012 FGT_ADC_1,Timebin=2,Disc=5,asmb=5AB

Sun Feb 26 04:47:36 2012
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run_13057012 FGT_MPV_1,Timebin=2,Disc=5,asmb=5AB
Sun Feb 26 04:49:12 2012

[ADC MPV for RDO=1ARM=4,APV=12_}

MPV (ADC-ped)

1500 [+

1000 [5

APV channel

[ ADC MPV for RDO=1,ARM=4,APV=13 "}

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

APV channel

[ ADC MPV for RDO=1,ARM=4,APV=14 "}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

APV channel

[ ADC MPV for RDO=1,ARM=4,APV=16 }

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13057012 FGT_RMS 1, Timebin=2,Disc=5,asmb=5AB
Sun Feb 26 04:49:49 2012
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run_13057012 FGT_ADC_1,Timebin=2,Disc=5,asmb=5AB
Sun Feb 26 04:47:41 2012
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run_13057012 FGT_MPV_1,Timebin=2,Disc=5,asmb=5AB

Sun Feb 26 04:49:15 2012
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run_13057012 FGT_RMS 1, Timebin=2,Disc=5,asmb=5AB
Sun Feb 26 04:49:51 2012
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run_13057012 FGT_ADC _1,Timebin=2,Disc=1,asmb=1BC

Sun Feb 26 04:47:45 2012
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run_13057012 FGT_MPV_1,Timebin=2,Disc=1,asmb=1BC
Sun Feb 26 04:49:16 2012
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run_13057012 FGT_RMS 1,Timebin=2,Disc=1,asmb=1BC
Sun Feb 26 04:49:53 2012
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run_13057012 FGT_ADC _1,Timebin=2,Disc=1,asmb=1BC

Sun Feb 26 04:47:50 2012
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run_13057012 FGT_MPV_1,Timebin=2,Disc=1,asmb=1BC
Sun Feb 26 04:49:18 2012
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run_13057012 FGT_RMS 1,Timebin=2,Disc=1,asmb=1BC
Sun Feb 26 04:49:54 2012
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run_13057012 FGT_ADC _1,Timebin=2,Disc=1,asmb=1CD

Sun Feb 26 04:47:54 2012
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run_13057012 FGT_MPV_1,Timebin=2,Disc=1,asmb=1CD

Sun Feb 26 04:49:19 2012
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run_13057012 FGT_RMS 1, Timebin=2,Disc=1,asmb=1CD
Sun Feb 26 04:49:56 2012

[ADC RMS for RDO=2,ARM=0,APV=12__}

= 400 =" S O T EEEEEEEEEE L EEEEE s T
@ . . . . . M
e
Q 350 [
g
2 300 [
09 .
250 555005050060500000GP055300000000050903C000P00005090360050000005034 foooocooooooocoooo0cooq fFoococooooooocoooo0oo0oq foooocooooooocoooooooog Foococoo
200
150
100 SRR b bbb bbbl = R g oeeeeeeseemeeeeeo020] P oCeeeeeReeae0eoea0000 pooe2eeesee0ee0000204 gooeene
50 - - 8 3 i e Tl | i U 4 K5 b = B Rl foo=seecsaasacacaasaand A b
. o o o ; ;
0 20 40 60 80 100 120
APV channel

[ADC RMS for

RDO=2,ARM=0,APV=13 '}

RMS (ADC-ped)

[CADC RMS for

RMS (ADC-ped)

] S o oo oo oo e -
50
40
* : : - ARG T e e
20

10

i
120
APV channel

[CADC RMS for

RDO=2,ARM=0,APV=15 }

RMS (ADC-ped)

50

40

30

20

10

°1-rr||1-|-|-r[|11-|-|-|-m|1-|-|-

APV channel

[[ADC RMS for

RDO=2,ARM=0,APV=16 }

RMS (ADC-ped)

50

40

ﬂi_'_ﬂ'l'rl

I

APV channel

30

I
L

20

10

°-r1-|-r|1-r|1-|-l1-|-r




run_13057012 FGT_ADC _1,Timebin=2,Disc=1,asmb=1CD

Sun Feb 26 04:47:58 2012
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run_13057012 FGT_MPV_1,Timebin=2,Disc=1,asmb=1CD
Sun Feb 26 04:49:20 2012
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run_13057012 FGT_RMS 1, Timebin=2,Disc=1,asmb=1CD

Sun Feb 26 04:49:57 2012
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run_13057012 FGT_ADC _1,Timebin=2,Disc=2,asmb=2BC
Sun Feb 26 04:48:03 2012
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run_13057012 FGT_RMS 1,Timebin=2,Disc=2,asmb=2BC
Sun Feb 26 04:49:58 2012
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run_13057012 FGT_ADC _1,Timebin=2,Disc=2,asmb=2BC

Sun Feb 26 04:48:05 2012
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run_13057012 FGT_MPV_1,Timebin=2,Disc=2,asmb=2BC
Sun Feb 26 04:49:21 2012
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run_13057012 FGT_RMS 1,Timebin=2,Disc=2,asmb=2BC
Sun Feb 26 04:49:58 2012
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run_13057012 FGT_ADC _1,Timebin=2,Disc=2,asmb=2CD

Sun Feb 26 04:48:10 2012
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run_13057012 FGT_MPV_1,Timebin=2,Disc=2,asmb=2CD
Sun Feb 26 04:49:23 2012
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run_13057012 FGT_RMS 1, Timebin=2,Disc=2,asmb=2CD
Sun Feb 26 04:50:00 2012
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run_13057012 FGT_ADC _1,Timebin=2,Disc=2,asmb=2CD
Sun Feb 26 04:48:14 2012
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run_13057012 FGT_MPV_1,Timebin=2,Disc=2,asmb=2CD

Sun Feb 26 04:49:24 2012
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run_13057012 FGT_RMS 1, Timebin=2,Disc=2,asmb=2CD
Sun Feb 26 04:50:00 2012
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Sun Feb 26 04:50:00 2012

[ADC RMS for RDO=2,ARM=2,APV=0__}

RMS (ADC-ped)

120 == e e e e e —

100

80

60

40

20

SBHT 'I'f1"I'ITII'I'H'|'I'I'I]'I'I1'

i
120
APV channel

[ ADC RMS for RDO=2,ARM=2,APV=1 "}

RMS (ADC-ped)

90

80

70

60

50
20 =
30 =

=
20 =

=
10 = g
o = i i i . i i i

0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=2,ARM=2,APV=2 "}

RMS (ADC-ped)

°‘I1IIITI'I1|IH'I'|1 r|-|

i
120
APV channel

[CADC RMS for RDO=2,ARM=2,APV=3__}

RMS (ADC-ped)

70

60

T TREE
L=

50

40

30

20

10

°'I1II|HI‘I'|1III[I'I'I1]IHT|

0

i
120
APV channel

[ ADC RMS for RDO=2,ARM=2,APV=4 "}

RMS (ADC-ped)

i . . .
100 120
APV channel
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run_13057012 FGT_ADC_1,Timebin=2,Disc=4,asmb=4BC

Sun Feb 26 04:48:35 2012

[ADC for FGT RDO=2,ARM=3,APV=5 }

P
]
2
Q
e
10°
10

0 1000 2000 3000 4000

raw ADC

ADC for FGT RDO=2,ARM=3,APV=6 l

énoped

0 1000

2000 3000 4000

raw ADC

ADC for FGT RDO=2 ARM=3,APV=7 |

ADC-ped

2000

3000 4000
raw ADC

[ADC for FGT RDO=2,ARM=3,APV=8 }

éDCAped

0 1000 2000 3000 4000

raw ADC

ADC for FGT RDO=2,ARM=3,APV=9 l

L -
°
[
Q
20
10?
10
0 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=2,ARM=3,APV=5_}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

10

APV channel

[ ADC for FGT RDO=2,ARM=3,APV=6 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

10

=
=
=
=
=
=
=
=
=
=
=
=
=
=
IS
0

1
120
APV channel

[ ADC for FGT RDO=2,ARM=3,APV=7 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

11r|]|r|1|r|1|[|1|r|1|r|]|r|1|rn I|'I1II'|1 T

10

20 40 60 80
APV channel

[[ADC for FGT

Py
]

0=2,ARM=3,APV=8_}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

1 H|'I1II'|HI'I

° nrl]lrn|r|1|[|1|r|1|r|]n|1

10

20 40 60 80 120

APV channel

[ ADC for FGT RDO=2,ARM=3,APV=9 "}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

10°

APV channel




run_13057012 FGT_MPV_1,Timebin=2,Disc=4,asmb=4BC
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[ADC MPV for RDO=2,ARM=3,APV=5__}

MPV (ADC-ped)

-500

i i i
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=3,APV=6 }

MPV (ADC-ped)

-500

. . . i . . . i . . . i . . . i . . . i . . . i
Q 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=3,APV=7 }

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

N N i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

APV channel

[ ADC MPV for RDO=2,ARM=3,APV=9 "}

MPV (ADC-ped)

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel




run_13057012 FGT_RMS 1,Timebin=2,Disc=4,asmb=4BC

Sun Feb 26 04:50:05 2012

[CADC RMS for RDO=2,ARM=3,APV=5__}

70

60

RMS (ADC-ped)

IH'I'I'HIH-I'H‘I

50

40

30

20

10

S =CERIIICEERNIIOCEENII0CE]
IIII|IIII|IIII T

[ ADC RMS for RDO=2,ARM=3,APV=6 }

250 -

200 [

RMS (ADC-ped)

150

100 [+

[ ADC RMS for RDO=2,ARM=3,APV=7 }

" " " " " " " " " " " 1 " " " 1
20 40 60 80 100 120
APV channel

RMS (ADC-ped)

i
120

[CADC RMS for RDO=2,ARM=3,APV=8__}

APV channel

70

60

RMS (ADC-ped)

50

40

30

20

10

°'I1IIIH'I1|IHI'|'I1II[H'H HHEiﬂ-I-III‘I‘I

[ ADC RMS for RDO=2,ARM=3,APV=9 "}

APV channel

80 [
70

60

RMS (ADC-ped)

50
40 /—
30
20 F

10

0

APV channel




run_13057012 FGT_ADC _1,Timebin=2,Disc=4,asmb=4CD
Sun Feb 26 04:48:39 2012

[ ADC for FGT RDO=2, ARM=3,APV=12 | [ ADC for FGT RDO=2,ARM=3,APV=12 |
- 4000 p—
3 =
3 =
Q 3500 fm—
< =
3000 f=—
=
2500 (=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
@ i i i = i i i i i i
0 1000 2000 3000 4000 0 20 20 60 80 100 12
raw ADC APV channel
[ ADC for FGT RDO=2,ARM=3,APV=13 | [ ADC for FGT RDO=2,ARM=3,APV=13 "}
L - 4000 p—
g - ] = . H ; 5 5 T
2 9 g =
(8] Q —
9 9 3500 f=
< < =
08}-- 3000 f/—
2500 fm—
06} 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
02 500 =
2 2 5 =
: : ofe—
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=2 ARM=3 APV=14 } I ADC for FGT RDO=2,ARM=3,APV=14 l
- . 4000 p=
8 qf-- 2 E . . . . . .
2 2 = 2 2 2 2 2 2
Q Q —
9 g 3500 =
< < =
osk-- 3000 =—
=
2500 f=—
=
06}-- 2000 f=——
=
1500 f=——
0.4f-- =
1000 f=—
=
. . . 500 f=—
Tt . =
o o o 0 p=—
@ i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=2, ARM=3,APV=15 | [ ADC for FGT RDO=2,ARM=3,APV=15 |
- 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
. 2 =
0 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=3.APV=16 | [ ADC for FGT RDO=2,ARM=3,APV=16 }
L - 4000
g |- 3
2] 3
%) 9]
Q Q 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
02+ - - =
H H 0
0 i i i

0 1000 2000 3000 4000
raw ADC APV channel




run_13057012 FGT_MPV_1,Timebin=2,Disc=4,asmb=4CD

Sun Feb 26 04:49:30 2012

[ADC MPV for RDO=2,ARM=3,APV=12_}

1500 [+

MPV (ADC-ped)

1000 [5

500

-500

[ ADC MPV for RDO=2,ARM=3,APV=13 "}

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

-500

[ ADC MPV for RDO=2,ARM=3,APV=14 |

i i i i i i
20 40 60 80 100 120
APV channel
i
120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ ADC MPV for RDO=2,ARM=3 APV=15_}
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=3,APV=16 }

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13057012 FGT_RMS 1, Timebin=2,Disc=4,asmb=4CD
Sun Feb 26 04:50:06 2012

[ADC RMS for RDO=2,ARM=3,APV=12__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=2,ARM=3,APV=13 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=3,APV=14 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=2,ARM=3,APV=16 }

RMS (ADC-ped)

1

0.8

APV channel




run_13057012 FGT_ADC _1,Timebin=2,Disc=4,asmb=4CD

Sun Feb 26 04:48:42 2012

ADC for FGT RDO=2,ARM=3,APV=17 _§

[ 1000 3000 4000

raw ADC

ADC for FGT RDO=2,ARM=3,APV=18 _§

3000 40(
raw ADC

[ ADC for FGT RDO=2.ARM=3.APV=19 ]
—

éDCAped

10°

3000 4000
raw ADC

[ ADC for FGT RDO=2,ARM=3,APV=20

Aé)oped

10

0 1000 2000 3000 4000

raw ADC

ADC for FGT RDO=2,ARM=3,APV=21 _§

ﬂé{x}ped

10?

0 1000

2000 3000 4000

raw ADC

[[ADC for FGT RDO=2,ARM=3,APV=17_}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

© R R R A A

APV channel

[ ADC for FGT RDO=2,ARM=3,APV=18 }

= 4000 p—
5] = . . H 5 5 g
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0=
E_. . . i . . . i . . . i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=3,APV=19 }

- 4000 p—=
] =
o =
Q 3500 f=—
< =
3000 f=—
=
2500 f=— -|
=
2000 =
=
1500 = -|
1000 = -|
=
500 f=— -
=
U ==
= i i i i i i
20 20 60 80 100 120
APV channel
[[ADC for FGT RDO=2,ARM=3,APV=20 }
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
=
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=3,APV=21 }
4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

.. 8 . d L e B

10

107

10

10

10




run_13057012 FGT_MPV_1,Timebin=2,Disc=4,asmb=4CD
Sun Feb 26 04:49:31 2012

[ADC MPV for RDO=2,ARM=3,APV=17

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=2,ARM=3,APV=18 "}

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

120
APV channel

[ ADC MPV for RDO=2,ARM=3,APV=19 |

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

N N i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

APV channel

[ ADC MPV for RDO=2,ARM=3,APV=21 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13057012 FGT_RMS 1, Timebin=2,Disc=4,asmb=4CD
Sun Feb 26 04:50:07 2012

[ADC RMS for RDO=2,ARM=3,APV=17 _}

RMS (ADC-ped)

60

50

40

30

20

10

|m|uu||rrr[rrrrIrrrr[mrln

APV channel

[ ADC RMS for RDO=2,ARM=3,APV=18 "}

RMS (ADC-ped)

APV channel

[CADC RMS for

RMS (ADC-ped)

i i
100 120
APV channel

[CADC RMS for

RDO=2,ARM=3,APV=20 }

RMS (ADC-ped)

80

70

60

TR

50

40

30

20

10

° 11|r|-|1n[r|11 |r|-|1|rr|-|]1

0

i
20 40 60 80 100 120
APV channel

[[ADC RMS for

RDO=2,ARM=3,APV=21 "}

RMS (ADC-ped)

APV channel




run_13057012 FGT_ADC _1,Timebin=2,Disc=5,asmb=5BC
Sun Feb 26 04:48:47 2012

[ADC for FGT RDO=2,ARM=4,APV=0 } [ ADC for FGT RDO=2,ARM=4,APV=0 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=2,ARM=4,APV=1 } [ ADC for FGT RDO=2,ARM=4,APV=1 "}
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=4,APV=2 } [ ADC for FGT RDO=2,ARM=4,APV=2 "}
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=4,APV=3 } [ ADC for FGT RDO=2,ARM=4,APV=3 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=4,APV=4 } [ ADC for FGT RDO=2,ARM=4,APV=4 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




=5BC

5,asmb

In=2,Disc=

b

Ime

Sun Feb 26 04

run_13057012_FGT_MPV_1,T

:32 2012

49

2,ARM=4,APV=0 J

[CADC MPV for RDO

120

| ._._._._... LLLLLELL 1S

500 fr—— - sr e

150
1000
-500

(pad-0av) AdW

APV channel

=1 |

ARM=4,APV:

=

[ ADC MPV for RDO

120

L

_.__.F_._._.._._._,.__.:._.

-500

(pad-0av) AdiW

APV channel

=2}

ARM=4,APV:

=2

[ ADC MPV for RDO

120

NNENES

1000

(pad-Dav) Adi

-500

APV channel

2 ARM=4,APV=3_}

[ADC MPV for RDO

LLLLL

(pad-0av) AdW

120

APV channel

=7}

ARM=4,APV:

=2

[ ADC MPV for RDO:

120

SEYRYEN

150

(pad-0av) AdiW

o

-500

APV channel



run_13057012 FGT_RMS 1,Timebin=2,Disc=5,asmb=5BC
Sun Feb 26 04:50:08 2012

[CADC RMS for RDO=2,ARM=4,APV=0_J

RMS (ADC-ped)

1

[ ADC RMS for RDO=2,ARM=4,APV=1 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=4,APV=2 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=2,ARM=4,APV=4 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13057012 FGT_ADC _1,Timebin=2,Disc=5,asmb=5BC
Sun Feb 26 04:48:49 2012

[ADC for FGT RDO=2,ARM=4,APV=5 | [ ADC for FGT RDO=2,ARM=4,APV=5 |
o = 4000 p—
3 5] =
2 2 =
8 =
g Q 3500 F=
E4) < =
3000 f=—
= 10
=
2500 f=—
=
10° 2000 b—
=
1500 E— a
1000 f=——
=
500 fm——
=
=
= 10t
= i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=2,ARM=4,APV=6 } [ ADC for FGT RDO=2,ARM=4,APV=6 }
L - 4000 p—
3 5] = . . . . . .
= = =
(8] Q —
9 9 3500 =
0 < =
000 fm——
S| = 10
2500 fm—
, =
B 2000 f=—
=
1500 f=—
= 1
=
10 1000 P=—
=
500 f—
=
0= o
j i It = . . i . . . i . . . i . . . i . . . i . . . i .
1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=4,APV=7 } [ ADC for FGT RDO=2,ARM=4,APV=7 }
- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
2 =
3000 f=—
= 10
2500 =
=
2000 =
=
1500 f=——
= 1
1000 fP=—
=
500 f=—
=
0=
= n a a a il
SEEEEEHIEEEE = i i i i i i 10
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=4,APV=8 } [ ADC for FGT RDO=2,ARM=4,APV=8 |
L - 4000 p—
3 5] = . . .
2 2 = :
<) Q 3500 fm—
20 < =
3000 f(=— 10
2500 =
10? =
2000 =
=
1500 f=—— 1
10 1000 pP=——
=
500 f[=—
=
0f=— 10"
=
= 1
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=4,APV=9 } [ ADC for FGT RDO=2,ARM=4,APV=9 "}
2
5 - 4000 p— - - - - - - 10
[ & =
9 Q 3500 f=— - -
20 g =
3000 pP=—- -
2500 [=— - - 10
2 =
2 2000 fm—— - -
=
1500 f=— - -
=
10 1000 p=—— - - 1
=
500 f— - -
=
=
E_. . . i . . . i . . . i . . . i . . . i . . . i .
0 1000 2000 3000 4000 0 20 40 60 80 100 120

raw ADC APV channel




run_13057012 FGT_MPV_1,Timebin=2,Disc=5,asmb=5BC
Sun Feb 26 04:49:32 2012

[ADC MPV for RDO=2,ARM=4,APV=5__}

MPV (ADC-ped)

-500

L i i i
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=4,APV=6 }

MPV (ADC-ped)

[
1500 |+

1000 [+

120
APV channel

[ADC MPV for RDO=2,ARM=4,APV=7__}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

APV channel

[ ADC MPV for RDO=2,ARM=4,APV=9 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13057012 FGT_RMS 1,Timebin=2,Disc=5,asmb=5BC
Sun Feb 26 04:50:08 2012

[CADC RMS for

RDO=2,ARM=4,APV=5_}

s 80 =
& 2z
Q 70 H
< =
H
2 60 BH
[ H
H
50 FH
H
H
H
40 .=I
o e i §
=
=
Ll e e R PP LR R R
TV e R R
=
0%
APV channel
[ ADC RMS for RDO=2,ARM=4,APV=6 }
=
3 :
3 @ | =—°°520°9RPo9°090000aPE0000000000900
<
2 50 B A b
'3 I-I
-
—

40 ----------------- -----
30
2 [ Feososasasasasasaasass e e
i B e oo e
0 R
0 20

APV channel

[CADC RMS for

RDO=2,ARM=4,APV=7 "}

RMS (ADC-ped)

70 P PR PR, R P R R PP PP PP R PR PP PP R R PP PP PP REERERE
60
50

40

30

20

10

°'I'I'I1]IIH[I'I'I'I]11IIIHH'|'I'I1 HH

APV channel

[CADC RMS for

RDO=2,ARM=4,APV=8__}

RMS (ADC-ped)

80

70

60

50

iy

40

30

20

10

i II'|1HI]I H‘I]ITHI

APV channel

[[ADC RMS for

RDO=2,ARM=4,APV=9 "}

RMS (ADC-ped)

APV channel



run_13057012 FGT_ADC _1,Timebin=2,Disc=5,asmb=5CD
Sun Feb 26 04:48:53 2012

[ ADC for FGT RDO=2, ARM=2,APV=12 | [ ADC for FGT RDO=2,ARM=4,APV=12 |
- 4000 p—
3 =
3 =
Q 3500 fm—
< =
3000 f=—
=
2500 (=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
@ i i i = i i i i i i
0 1000 2000 3000 4000 0 20 20 60 80 100 12
raw ADC APV channel
[ ADC for FGT RDO=2,ARM=4,APV=13 | [ ADC for FGT RDO=2,ARM=4,APV=13 "}
L - 4000 p—
g - ] = . ; ; 5 5 T
2 9 g =
(8] Q —
9 9 3500 f=
< < =
08}-- 3000 f/—
2500 fm—
06} 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
02 500 =
2 2 5 =
: : ofe—
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=2 ARM=4,APV=14 | [ ADC for FGT RDO=2,ARM=4,APV=14 "}
- . 4000 p=
8 qf-- 2 E . . . . . .
2 2 = 2 2 2 2 2 2
Q Q e
9 g 3500 =
< < =
osk-- 3000 =—
=
2500 f=—
=
06}-- 2000 f=—
=
1500 f=——
0.4f-- =
1000 f=—
=
. . . 500 f=—
Tt . =
o o o 0 p=—
@ i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=2, ARM=2,APV=15 | [ ADC for FGT RDO=2,ARM=4,APV=15 |}
- 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
. 2 =
0 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=4,APV=16 || [ ADC for FGT RDO=2,ARM=4,APV=16 }
L - 4000
g |- 3
2] 3
%) 9]
Q Q 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
02+ - - =
H H 0
0 i i i

0 1000 2000 3000 4000
raw ADC APV channel




run_13057012 FGT_MPV_1,Timebin=2,Disc=5,asmb=5CD

Sun Feb 26 04:49:33 2012

[ADC MPV for RDO=2,ARM=4,APV=12_}

1500 [+

MPV (ADC-ped)

1000 [5

500

-500

[ ADC MPV for RDO=2,ARM=4,APV=13 "}

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

-500

[ ADC MPV for RDO=2,ARM=4,APV=14 "}

i i i i i i
20 40 60 80 100 120
APV channel
i
120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=2,ARM=4,APV=15_}
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=4,APV=16 }

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13057012 FGT_RMS 1, Timebin=2,Disc=5,asmb=5CD
Sun Feb 26 04:50:09 2012

[ADC RMS for RDO=2,ARM=4,APV=12__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=2,ARM=4,APV=13 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=4,APV=14 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

| ADC RMS for RDO=2,ARM=4,APV=16 }

RMS (ADC-ped)

1

0.8

APV channel




